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2.1 FHSREH

FEE5EZ (odd and even number)

BIEREAN0

T+ ETH=BE FHXFTH=T

BEHBH=BE FEHXBH=BZ

FHHBE =T BEX(BE=15E

INSEILIRRGES , RS —EREHRAIRS .

ERNE, MEEBIUER,; ER05, REEBERE.
NDEEEEINR: STERIDENEH D, HEEBENETE
NEEEER: BIBUE, TEUE.

INRNAERE, —PEHEINRSFIX MY EIHER.
FHHIOXSZETH, BERIORGEEETE

*

* * * * * * * * * *


















2.2 BE. FRES5ESH

[h%L (prime number) 55#{ (composite number)

s ERIEEHRZFINEBCH I ERZ, NOERE
 ERIEREH IR T 1NEBCZINMEBEMIERZL, NAEE,
*» 20LARRETA IHRLE?

+235711131719

IR 1 BARRY, BRESEHL

+ 2 EREBBHIRM, B— 1 REEISEREEYEL






2.2 BE. FRES5ESH

Two different primes may be said to “rhyme” around and integer if they are
the same distance from the integer on the number line. For instance, 3 and 7
rhyme around 5.What integer between | and 20, inclusive, has the greatest
number of distinct rhyming primes around it?

A2

B.15

G

D.18

E.20



2.2 BE. FRES5ESH

12 2 & & 7 11
22 2 kel 17 s
(S22 SN SR A
248 2l 28 2s el
ez @ 8 7 A1 A8
32312927 23 21
LSARZ I S I 5 B KR [
SSRGS N2082582 58 C
+20:2 3 5 7 11 13 17 19
. d8 Bl 88 &9 29 21 2 2

*

*

*

*

*

*

*

*






[RRZEL (prime factor)

« — PR EREFRANRE X TR E L,

o 12=2%6=2%2*3

- FE— T BHAUERERESRFF, XMEBEST
BT OEE






The product of the units digit, the tens digit, and the hundreds digit of
the positive integer m is 96.

What is the units digit of m?

(1) mis odd.

(2) The hundreds digit of m is 8.



2.3 [HEEL

PRAERI E SR RrIFE B

« HARREEAIFNSEEBRIFE(subset), BXISMREZCRR, AFITE<BAID
HNBRARIEH (multiple), ARBRIEEL

+ MNRAEEBAEBRIEREL, EBRREELHMEEBEB, WA EEEBIIA
%, BRI AIEERARNEEL,

+ A=mn? B=m?2n2



A school administrator will assign each student in a group of n students to one of
m classroom. If 3<m<3<n, is it possible to assign each of the n students to one
of the m classrooms so that each classroom has the same number of students

assigned to it?

(1) It is possible to assign each of 3n students to one of m classrooms so that
each classroom has the same number of students assigned to it.

(2) It is possible to assign each of |13n students to one of m classroom so that

each classroom has the same number of students assigned to it.



In the decimal representation of x, where 0<x<l, is the tenths digit of x nonzero?

(1) 16x is an integer.

(2) 8x is an integer.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (|) alone is not sufficient.

C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















2.4 ERRMFRE

» MBRLANGREL
* M=gn+r

 M=at+b+c

» Fab, EnHIEE, MEnHIEEL.

+ 53Ba, bEnAYEE, m/nBIREFE/NHIREL,
+EM, a, bEnAIEE, EnHIEH

*» FIEERR S REB O B F<EEN






2.4 ERRMFRE

What is the remainder when the positive integer n is divided by the positive integer
k, where k>1?

(1) n=(k+1)?

(2) k=5

A.Statement (1)ALONE is sufficient ,but statement (2) alone is not sufficient .

B. Statement (2)ALONE is sufficient ,but statement (1) alone is not sufficient .
C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is

sufficient .
D.EACH statement ALONE is sufficient .
E.Statements (1) and (2) TOGETHER are NOT suffiicient .



2.4 ERRMFRE

If q is positive integer less than 17 and r is the remainder when |7 is divided by
g, what is the value of r ?

(1)g>10

(2)g=2%, where k is a positive integer .

A. Statement (I)ALONE is sufficient ,but statement (2) alone is not sufficient .
B. Statement (2)ALONE is sufficient ,but statement (1) alone is not sufficient .
C.BOTH statement TOGETHER are sufficient, but NEITHER statement
ALONE is sufficient .

D.EACH statement ALONE is sufficient .

E.Statements (1) and (2) TOGETHER are NOT suffiicient .






2.4 ERRMFRE

s —PHEGREWOERR, RBEEHISE—Z (20815) .

s —PHEDRBEWAER, REBECHERN (E024R9EE0) .
s —PHEDREWEER, REBECHE= (E5=E8RIE) -
o — P EBEAWCERR, BURTR(LZFRERIKIZERR .

s — P EEERROERR, LEURT R ZFEERIKOZER .



2.4 ERRMFRE

If n and m are positive integers, what is the remainder when 3”(4n+2+m) is divided
by 10?

(In=2

(2)m=1

A.Statement (1)ALONE is sufficient ,but statement (2) alone is not sufficient .

B. Statement (2)ALONE is sufficient ,but statement (1) alone is not sufficient .
C.BOTH statement TOGETHER are sufficient, but NEITHER statement ALONE is

sufficient .
D.EACH statement ALONE is sufficient .

E.Statements (1) and (2) TOGETHER are NOT suffiicient .



2.4 ERRMFRE

FEm/n/NETERD JIx, MIRELAInx
If s and t are positive integers such that s/t=64.12 ,which of the following
could be the

remainder when s is divided by t?
A2 (B)4 (C)8 (D)20 (E)45






RS
consecutive numbers 1ELEE]

*» AN IR S — MR E— T HIHE
The average(arithmetic mean)of the integers from 200 to 400,inclusive, is how

much greater than the average of the integers from 50 to 100, inclusive?
A.150

B.175
C.200
D.225
E.300



2.5 ELEH
EERInT2H T, BERBI1EnlIE5

If n is an integer greater than 6, which of the following must be divisible
by 3?

(A) n(n+1)(n-4)

(B) n(n+2)(n-1)

(C) n(n+3)(n-5)

(D) n(n+4)(n-2)

(E) n(n+5)(n-6)



2.5 ELEH
EERIERR, BERE— 124G
If n is a positive integer and r is remainder when (n-1)(n+1)is divided
by 24,what is the value of r ?

() 2 is not a factor of n.

(2) 3 is not a factor of n.



2.5 &5 H

If an integer n is to be chosen at random from the integers | to
96,inclusive, what is the probability that n(n + 1)(n 4 2) will be
divisible by 8?

Al B3 ¢

i 5 E.
4 8 2

oo | in

E
4



2.5 &5 H

o NMEERIZEPRAMAIPTSRISREE 2ESRY, EN=M, T
RELAMBEEEN, £5I21,2,--m=-1,0,

«1, 2,3, 4, 5, 6, 7Tk&RLA4x%%091,2,3,0,1,2,3



2.5 &5 H

Seven different numbers are selected from the integers Ito 100, and
each numbers is divided by 7.What is the sum of the remainders?
(I)The range of the seven remainder is 6.

(2) The seven numbers selected are consecutive integers.






2.5 &5 H

For every positive even integer n, the function h(n) is defined to be the
product of all the even integers from 2 to n,inclusive .If p is the smallest
prime factor of h(100) +1,then p is

A.between 2 and 10

B. between 10 and 20

C.between 20 and 30

D. between 30 and 40

E. greater than 40












